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1 |/hE FR nroresys | 37 | 34 71 0 | 71.0 |nrvattx 27T Bl Je3% nrv A0S H 40 | 45 85 0 | 85.0
2 |RE 44— 37 | 38 75 0 |75.0 32T W[ IE 40 | 46 86 0 | 86.0
3 |IuA ¥ 37 | 38 75 0 | 75.0 32T FRH EEE 44 | 42 86 0 | 86.0
4 B AZHB  narvaromul 36 | 39 75 0 75.0 |hAv Atk 32T BEH ®E AAYATORUE 43 | 43 86 0 | 86.0
5 |FEHE &R 38 | 39 77 0 | 77.0 32T kiR &RE nro ARSI H 44 | 42 86 0 | 86.0
6T |KiT =] nav AT 37 | 41 78 0 78.0 36T HY FHE nAY AT 42 | 45 87 0 87.0
6T #& HIE 38 | 40 78 0 |78.0 36T f&vd BR{H# BAYAEYs | 45 | 42 87 0 |87.0
8T |EHAT RE 41 | 38 79 0 |79.0 38T /MR 5F BAYATORLY 43 | 45 88 0 |88.0
8T |#&X7 IR 40 | 39 79 0 |79.0 38T HE FAT navAEys | 41 | 4T 88 0 |88.0
10T |HH  Foisf 42 | 38 80 0 |80.0 38T EA B BAYATORMH 43 | 45 88 0 |88.0
10T [k *E BAYAEYs | 43 | 37 80 0 | 80.0 41T dedt HE BAYAEYs | 41 | 48 89 0 |89.0
10T |#AFF E&H Aav TR 41 | 39 80 0 80. 0 41T |& EFR BADATORIH 46 | 43 89 0 |89.0
10T | K& MRE navATomHE 39 | 41 80 0 |80.0 41T |F#F #Hm nAVAEYs | 44 | 45 89 0 |89.0
10T & BY¥ BRAYATORSY 40 | 40 80 0 |80.0 44T /K 49 | 42 91 0 |91.0
15T f&ll & nAv TS 40 | 41 81 0 |81.0 447 |FERF FHR 43 | 48 91 0 |91.0
16T KA FEF 42 | 39 81 0 | 81.0 44T | R HA 42 | 49 91 0 |91.0
17T |Fk E*x Ay TS 39 | 43 82 0 |82.0 447 FHH HHE BAvAEYs | 40 | Bl 91 0 |91.0
17T JIN BFE BAYAEYs | 40 | 42 82 0 |82.0 44T FHIN EF BAVAEY s | 44 | 4T 91 0 |91.0
17T &3 #— naYATORUE 38 | 44 82 0 | 82.0 49T BFH  BEE navYATERUE 47 | 45 92 0 |92.0
17T IR HE 40 | 42 82 0 |820 49T =B B nAvATORME 43 | 49 92 0 |92.0
17T B4 &R BAYAEY s | 40 | 42 82 0 |82.0 51 |[fhHE #& BAYATOEDY 46 | 4T 93 0 |93.0
22 BH f# 41 | 42 83 0 |83.0 52 |HH BZ 46 | 48 94 0 | 94.0
23T |[lUA #EH nAvATORUE 43 | 41 84 0 |84.0 53T | =& XH 50 | 46 96 0 |96.0
23T A 2A— 40 | 44 84 0 | 84.0 53T (i ZiE nAYAEYs | 53 | 43 96 0 |96.0
23T b+ B 41 | 43 84 0 |84.0 55 |Hff —RK 46 | 51 97 0 |97.0
23T | KUE &7 40 | 44 84 0 |84.0 56T B4 [& nAvATORSH 49 | 58 107 0 [107.0
27T & # nAYAIEEE 41 | 44 85 0 | 85.0 56T |FEAT 5L nAvATEME 57 | 50 107 0 [107.0
27T \|WEA  #— pAYATORSY 39 | 46 85 0 |85.0
27T R #HR 40 | 45 85 0 | 850
27T |8 BAYATOREY 43 | 42 85 0 |85.0
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